Aidﬁu-a/ § -

1. Sketch the electrlc field lmes and eqmpeten 'al hne,qL for the fo]!owmg charges

AP E&M Unit 2 Wm ksheet 4

JRFRS ‘a. “Find the dlf‘fe; ence in olectric potentlal eneigy of T

b T . )
- poings, HHTH§ |
' b. Determine the potential difference between the two points.
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i 3’ A pomt chzu ge of +4C creates a ﬁeld :
a; ‘What d}rectlon is the field from thls charge? 633 e e i S
b ‘What is the poten‘ual difference (referencing mfimty to be zero) 2 cm ﬁom the - -
¢}1arge‘7 _ : 5 i
¢ 12 ¢m from the charge? : ' 7 PR
What is the electric field created between these two potentials? &\\a\ PR
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4 The pos;tlve telmlnal of an x-ray tube has a potentlai of 125, 000 Vv 1elat1ve to the

3 nega}we terminal.
- roee o al How much work s done to aecelerate an electron through the x-ray tube‘?
: _,*{\.ZV_;, b, - Ifthe electron. is initially at rest, how much kinetic energy does it have when it
) . L
B AR e gets to the Qggg@@termmat ofthe tube? : »
© . . c. Howfastis the electron moving?-> S o e (s

ey &LE _ : A
:NJ };,, (b, mwtm»\ 240 “"ur ST )‘f“’?w oA

‘f) Ke: (e “ME

S {¥ ,; :mxj?y i 21“‘*\”\

l (‘()\ \\.{ i\}‘d" AJ




5. The potential of point A relative to poirit B (Va-Vb)'is +60V. The potential of point
C relative to point B (Vc-Vb) is +35 V.

iy o What is the potential difference befween'A and C? 2S5y
b. How much work is needed to.move a charge of 4.3E-6 C from A to B?
A B S ¢ Howmuch work is needed to move a charge of 4.3E-6. C from B to C? ,
y (e N 35 y 4. How much work is needed to move a char ge of 4. 3E 6C ﬁem Ato C? '
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6. A partlcle havmg a charge of +3E-9 C moves from pomt A to point B along a straight
line, a total distance of 0.5m. The electric field is uniform along this line, in the
direction from a to b with magnitude of 200 N/C. a
a. Determine the force onq.  ¥> g2 344 1209 #6814
B. Determine the work done by the field. = ¥ 2 s:208) = ’:iq“?@
¢. Determine the potential difference between A and B. BEFREE
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7 Point charges of +7E-6 C (point A) and —9E 6C (point B) are placed 6 cm apart :
(A on the left). : b

W
~a. Find the potential directly in the middle of these two pomts ) . V o ﬂ"
b - Find the potential at a point 1om to the left of A. : e

C Fmd the potentlal at a pomt 3emto the rlght of B. e
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8 : A rtlcie havmg a mass of Sg and charge of 2E-9 C starts from rest at pomt aand-
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Movesina st axght lme to pomt b what is the speed at pomt b? (All objects are 1crn ; _' L




